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1) Bit-Width

2) Division Algorithm

module Division (clk, reset, di, do, q, r);

input clk, reset, [bw:0]di, [bw:0]do;

output reg [bw:0]q, [bw:0]r;

always @(posedge clk or negedge reset)

begin

if (reset == 1’b0)

q <= BW’b0;

else

if (x == 1’b1)

// calculations and iterations

….

end

endmodule

FPGA
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OR High-Level Synthesis (HLS) FPGA
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Synthesize FPGA
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MORE IDEAS -

• Fixed Sized Loop and Unroll

• Optimizations

• Other Division Algorithms
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https://github.com/marti693/Variable-Width-Division-Scripts


